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Activity 1: Decide which of the following statements is True or False

1. Government can only spend what they receive in taxation

2. Government spending is the largest component of Aggregate Demand

3. The level of Exports is determined by the demand in the UK 

4. A 10% increase in consumer spending will most likely increase Aggregate demand by 10%

5. Falling prices in the Economy will cause a rightward shift in the  AD curve
 
6. Wealth is a stock concept

7. A Negative output gap occurs when the actual rate of growth is less than the trend rate of growth

8. Goods bought from other countries outside the UK are classed as a leakage

Extension: What is the most important component of AD? Explain your answer:

…………………………………………………………………………………………………………………..

………………………………………………………………………………………………………………….. 
Activity 2: Complete the table below by deciding how the event in question will impact on Income, Output and Employment in UK.

	Event
	Which groups/companies would gain/loose income?
INCOME
	What products would see an increase/decrease in output?

OUTPUT
	What will be the effect on employment
Of the event.

EMPLOYMENT

	Consumer spending increases by 10%



	Tesco might benefit from increased sales
	The output of Tesco value beans, Flora margarine and Nestle coffee would increase
	Tesco, Flora and Nestle would hire more workers to satisfy the increase in demand for products 

	The Government decides to build 10 new hospitals


	



	
	

	Following a rise in exchange rates UK consumers spend 5% more of their incomes on imports
	
	
	



Define Aggregate Supply




Economists distinguish between SHORT RUN and LONG RUN aggregate supply. In the short run the prices of the factors of production do not change in price.

Activity 3: Draw a Short Run Aggregate Supply (SRAS1) curve and Aggregate Demand (AD) curve in the space below. 
a. Show the economy in equilibrium at P1 and Y1
b. Show the impact of an increase (SRAS2) and decrease in the SRAS (SRAS3)
c. Show corresponding new equilibriums levels (P2, P3, Y2, Y3)
Extension: what would the Long Run Aggregate Supply (LRAS) curve look like? 








Activity 4: Decide which way the Supply curve would shift after each of the events below.
1. An interest rate rise of 6%  
2. A substantial decrease in the cost of raw materials coming into the UK
3. A decrease in the money wage rate.
4. An increase in Business Taxes
Extension: what factors would cause the LRAS to shift?

Factors that SHIFT the SRAS curve 
1.
2.
3.
4. 
